—IRASRAQCERE-TS5AE5—8)

AN PAN
28 e ARES | BEAR| EEEN amwEx| wE | oas | Sps | 2EE
PESGSE 48 546 167 33 200 - 108.203%
OTEEEFR
- ISR R 7 213 44 48 300 244.90 232.00
EIERIFER
. \ PGSt 37 204 65 3.1 200 150.92 138.00
OEEEIET AV RR
FS2Evs—8 | 10 102 27 38 300 224.06 212.00
N DRI 36 302 87 35 200 147.11 135.00
OEBSEIZ1=r—yavER ———v— 5 5 3 21379 00,00
S2Evs—8 | 10 5 1 1 300 137 |
3 R Rty e D= 25+
DRI 35 159 86 18 200 139.40 123.00
ORT{LER —
TFS5At 5B 5 54 23 23 300 210.83 190.00
DRI 34 213 151 14 200 121.07 96.00
o A\RIERER
- TFS5At 5 —F 3 85 71 12 300 171.48 135.00
AHEBERES
2HRIR 36 177 132 13 200 125.80 100.00
OEER
TFS5At 5 —F 5 69 54 13 300 187.89 153.00
2HRIA 35 216 117 18 200 128.66 111.00
OXiLiEHRER —
FS5At 5 5 73 39 19 300 189.56 168.00
AL B R F &R
2HRI 30 171 104 16 200 125.68 107.00
OX TP IEERER
FS5At 5 4 68 35 19 300 185.00 162.00
BRTRTRS I | ORRTETAS 2HRIRY 50 390 271 14 200 125.08 103.00
CYRIAV N CYRIAY NER
" 5225 —8 | 15 152 106 1.4 300 183.61 155.40
OFELIGESR 2HRIR 23 341 93 37 200 149.83 139.00
T RE-NEBEEE TSREVI—R | 12 142 55 26 300 224.34 209.00
B+
) OFEbRESR 2HRIE 11 281 68 4.1 200 147.63 136.00
DNEPEHRTEE ISRy | 17 200 78 26 300 218.66 203.00
BEFI OEEFR TSREVH—H | 40 574 224 2.6 300 220.27 205.00
XEBERXREBYRO— Ex?\uiA(%ﬁlﬂ*“)T FRBRNEBOERAREBICHREL ZOAETHLTVET,
(FEEH. ARERIIIBE2ELEAHEHA,)
=p N e | =
—RARB(1HBE - TSty —B-2H BB N\GHXE)
PAN PAN
2 27 ARKS | BEAR EREK aRER| BE | ms | Ghs | BEd
- OTEEEFR TSR~ 1 15 2 75 200 165.00 162.00
ERE
: OHEEEE TV RR 1 ZhBIE 3 33 7 47 100 80.71 78.00
OEBEEII1= —yavER 1 kiR 4 82 5 16.4 100 87.40 86.00
S by S E VL1 1 Rl 3 71 3 23.7 100 81.33 79.00
ERaS2 B emmuirn -
IR 3 16 3 5.3 100 73.00 64.00
© ABBRER 15RIE 5 116 15 7.7 100 73.53 69.00
AEBIREE
o nEER 1 IR 5 106 16 6.6 100 75.06 70.00
N OXILERER 1R 6 132 7 18.9 100 78.57 76.00
XA IEREER -
OX TP IERER e Gk 4 123 6 20.5 100 78.67 76.00
L 1 HFRE 5 110 28 39 100 72.86 69.00
BRYRIAY NEE OB TRIAY N2
2HRIR 2 31 10 3.1 200 130.30 123.00
OFLbIESR 1 #hRIE 3 29 7 4.1 100 75.00 69.00
I RE - DEREEE DHRIAY 3 21 3 7.0 200 141.33 129.00
BFn
OFELIESF 1R 1 37 8 4.6 100 74.75 70.00
NEPELESE 2RI 4 31 8 39 200 142.13 134.00
BEYE OEESR 2R 60 4 15.0 200 160.75 150.00
(ZEBRERIETHEDRREBSTHEORFERYET,)



vy —FHEARA

FE FR AFSXD | SEAE | SHEEHK | ARER | BX TR | BRETER | ARERER
SR OTIEREBLH kgt 13 109 52 2.1 200 166.15 156.00 y
! " OEERE T V2R SHRIE 11 73 41 1.8 300 224.37 208.40 o
=ZEI = —_— N ALy NEill }\
EEOS 1= s 5y OEREEII = r—yavEl | 2HRIR 3 133 59 2.3 300 237.16 220.30 ’
ORI LR 2HRIE 2 87 49 1.8 200 151.15 141.25 %
O A\FEBEFRER 2HRIAY 3 140 104 13 200 132.10 114.00 7
45y S
APIBRRH O DEERY 2HRIE 3 65 41 1.6 200 147.54 134.00 7
O {bIERER 2HRIAY 5 100 53 1.9 200 143.99 133.00 v
| R4 3]
XALmH TR OAF(TIERER 2HRIE 4 111 57 1.9 200 141.40 129.00
BRYRIAY NEER OBRARIRIAYNER SHRIA 10 71 44 1.6 300 214.33 192.50
OTFEHLRESR -
. B R REZ ¢Skl 2 62 38 1.6 300 237.77 222.20
BEFE OFEERESR REZ ¢kl 2 90 62 15 300 229.24 210.20 )
DNEREHEHE SRR 2 45 31 15 500 368.60 336.60 iie
BEFE OFEFR 3HRIA 4 100 52 1.9 300 235.22 219.60 /1\\
vy — %U% A#EB
FR ARXD | EEAE | SHEEHR | aRER | £BX s | ARETER | ARERESR
SRS OTIERBLR k¢St 1 8 2 4.0 200 178.00 166.00
! " OEERE T VR 2HRIE 2 16 6 2.7 200 154.50 147.00
SEI S —Y g VSR il
EEOS 1= — s gy OEBEEII =r—vavEll | 2HRE 2 15 2 75 200 157.60 156.60 N
ORIFLFR 2HRIE 1 8 1 80 200 156.60 156.60 b
O A\FEIBEFRER PE gkl 3 38 20 1.9 200 140.00 131.50 &
A4 3]
AMIRRS OISR 2HRIE 3 22 11 20 200 142.45 134.00 %ll
O {LIBERER 2HRIAY 2 22 2 11.0 200 157.70 157.40 H
| 4 3]
ALt OAF (T IERER 2HRIE 2 29 2 14.5 200 157.70 157.40 é\t
BRIYRIAY NEER ORATRIAYNER 2HRE 3 27 16 1.7 200 138.94 131.50
OFELFESLH -
— B k2 ¢Skl 1 8 3 2.7 200 157.13 156.00
BFn
OTFELRESR -
D REZ ¢kl 2 7 3 2.3 300 210.00 202.00
HEFH OFEFR 2HRIR 1 5 1 5.0 200 165.00 165.00 A
o)
AOZEIR i
FH 2 SEANE | SHBEHR | akER | 5F
EIERIEER OEFERETY VR 5 30 14 2.1
Lo | OEFESEIZzr—vavER 8 23 18 1.3
,-J—JE = —3 Pt
EFIS2=7 -3V 28 OREX LR 8 16 11 15
O \FHERFER 9 20 13 115
R4 3|
AFBS RS o LEER 4 16 13 12
OX{LERER 5 21 18 1.2
| 24 3] .
XALFEH TS OAF AT IERER) 4 18 12 15 #ﬁ
BRYRIAY NEE OB TRIAY N2RY 5 20 16 13 )}t
A
NEHIEB AR
FE FR SEANE | SBEN  aREH | BX
HESER S OEERE T YA VR 8 33 20 1.7
OEMRSEII 1=y —va VR 8 29 16 1.8
- g ety e D= 251
ERIS2=7—> a7 OB ER 8 10 10 1.0
O \FEBERER(1H) 5 11 11 1.0 .
sn O \FEERFER (TH) 3 7 7 1.0 D
ARBIRS o LEEH (15) B 9 8 R i
s E o) 3 3 3 10 )
O LIFRF R (TH) 10 25 23 1.1 At
s O {bIERER (HA) 5 23 20 1.2
XALREFE X/ FEHEH (15) 5 13 1 12
OAT 1 7IERER (ILHR) 2 12 8 15
OHATRIUXY NEEL (1H) 6 17 15 1.1
i fovd
R FIAY NP OEATRIAY NEFL () 5 14 1 13 //f
N R e o =g i
SEMAZEE-BEFRERIEBAR i
e FR SEANE | FEEY | aER | £X 2]‘
BAIRIAVNEER ORRYEIAYMER 5 5 5 1.0 3
el
BRERERSIEEBAR v
FE 2 SEANE | SEEY | akEH | EX
BEFEB OFELREFR NEFEREHE 1 8 3 27




